Pinellas County

Goods Purchase Agreement

THIS PURCHASE AGREEMENT ("Agreement") is made as of this <u>25</u> day of <u>January</u>, 20<u>22</u> ("Effective Date" which is the same date as the last party to execute this Agreement), by and between Pinellas County, a political subdivision of the State of Florida ("County"), and Patterson Veterinary Supply Inc. ("Contractor") (individually, "Party," collectively, "Parties").

WITNESSETH:

WHEREAS, the County requested proposals pursuant to Bid no. 21-0547-B-MJ Veterinary Drugs and Supplies .

WHEREAS, based upon the County's assessment of Contractor's quote, the County selected the Contractor to provide the Goods as defined herein; and

WHEREAS, Contractor represents that it has the experience and expertise to provided the Goods as set forth in this Agreement.

NOW, THEREFORE, in consideration of the above recitals, the mutual covenants, agreements, terms and conditions herein, and other good and valuable consideration, the receipt and sufficiency of which is hereby mutually acknowledged, the Parties agree as follows:

- The execution of this Agreement is subject to and expressly limited by the Terms and Conditions hereon. County and the Contractor are not bound by additional provisions or provisions at variance herewith that may appear in the Contractor's quotation, acknowledgement in force, or any other communication from Contractor to or from County unless such provision is expressly set forth herein.
- 2. ASSIGNMENT/SUBCONTRACTING The Contractor must provide the Goods required by this Agreement. No assignment or subcontracting is allowed without prior written consent of the County. In the event of a corporate acquisition and/or merger, the Contractor must provide written notice to the County, within (30) business days of Contractor's notice of such action or upon the occurrence of said action, whichever occurs first. In that event, the County may terminate this Agreement in those instances in which a corporate acquisition and/or merger represents a conflict of interest or contrary to any local, state or federal laws.

- 3. ORDERS Within the term of this Agreement, County may place one or more orders for goods at the prices listed on the Price Schedule which is attached hereto as Exhibit A and which is incorporated by reference hereto.
- 4. DELIVERY/CLAIMS Prices on the Schedule of Prices are F.O.B. Destination, FREIGHT INCLUDED and unloaded to location(s) within Pinellas County. Actual delivery address(es) will be identified at time of order. Contractor will be responsible for making any and all claims against carriers for missing or damaged items.
- 5. COMPENSATION County will pay Contractor upon Contractor's delivery of, and County's acceptance of, the goods required herein, as specified. All payments will only be made based on invoices submitted in accordance with the Local Government Prompt Payment Act, Florida Statutes §§ 218.70, et. seq.
- 6. TERM OF AGREEMENT AND SPENDING CAP This Agreement is effective on the effective date and will continue in effect for a period of thirty-six (36) months, with an optional twenty-four (24) month renewal at the same pricing, terms, and conditions. Contract pricing is subject to an annual price adjustment per updated MSRP list to be submitted by the contractor. If the contractor desires to request an increase for the next annual period, the Contractor shall submit, no later than ninety (90) days prior to the annual anniversary date, a written request to increase the pricing. Adjustments requested after the noted deadline will not be accepted. The contractor shall submit supporting documentation to justify the price increase. Pinellas County reserves the right to refuse price increases deemed unsubstantiated. Notwithstanding any order(s) placed pursuant to this Agreement, the County may not be held responsible for amounts exceeding \$1,863,853.91, without a written amendment to this Agreement raising such limit signed by the parties.
- 7. AMENDMENT This agreement may be amended by mutual written agreement of parties hereto.
- 8. INVOICING Written invoice(s) must be submitted to:

Finance Division Accounts Payable
Board of County Commissioners Pinellas County
PO Box 2438
Clearwater, FL 33757
727-464-8389
FinanceAccountsPay@MyPinellasClerk.org

Each invoice must include, at a minimum, the Contractor's name, contact information and the Purchase Order number.

9. DISCOUNTS - Delay in receiving an invoice, invoicing for materials shipped ahead of specified schedule, or invoices rendered with errors or omissions will be considered just cause for County to withhold payment without losing discount privileges. Discount privilege will apply from date of scheduled delivery, the date or receipt of goods, or the date of approved invoice, whichever is later.

- 10. NAME CHANGES The Contractor is responsible for immediately notifying the County of any company name change, which would cause invoicing to change from the name used at the time of the original Agreement.
- 11. COMPLIANCE WITH APPLICABLE LAWS Contractor certifies that all of the products to be furnished hereunder will be manufactured or supplied by Contractor in accordance with all applicable provisions of State, Local and Federal laws, as of the date that the goods are supplied.
- 12. CHOICE OF LAW: The laws of the State of Florida apply to this Agreement and any and all purchases made hereunder. Contractors must comply with all local, state, and federal directives, orders and laws including, but not limited to, Equal Employment Opportunity (EEO), Minority Business Enterprise (MBE), and OSHA.
- 13. FISCAL NON-FUNDING- In the event that sufficient budgeted funds are not available for a new fiscal period, the County will notify the Contractor of such occurrence and this Agreement will terminate on the last day of the then current County fiscal period (Oct. 1 Sept. 30) without penalty or expense to the County.
- 14. INDEMNITY PROVISION Contractor agrees to indemnify, pay the cost of defense, including attorney's fees, and hold harmless the County, its officers, employees and agents from all damages, suits, actions or claims, including reasonable attorney's fees incurred by the County, of any character brought on account of any injuries or damages received or sustained by any person, persons, or property, or in any way relating to or arising from the Agreement; or on account of any act or omission, neglect or misconduct of Contractor; or by, or on account of, any claim or amounts recovered under the Workers' Compensation Law; or of any other laws, regulations, ordinance, order or decree; or arising from or by reason of any actual or claimed trademark, patent or copyright infringement or litigation based thereon; or for any violation of requirements of the Americans with Disabilities Act of 1990, as may be amended, and all rules and regulations issued pursuant thereto (collectively the "ADA") except when such injury, damage, or violation was caused by the sole negligence of the County.

15. INDEPENDENT CONTRACTOR STATUS AND COMPLIANCE WITH THE IMMIGRATION REFORM AND CONTROL ACT OF 1986 - The Contractor is and will remain an independent contractor and is neither agent, employee, partner, nor joint venture of the County. Contractor acknowledges that it is responsible for complying with the provisions of the Immigration Reform and Control Act of 1986 located at 8 U.S.C. 1324 et. seq., and regulations thereto, as either may be amended from time to time. Failure to comply with the above provisions is considered a material breach and is grounds for immediate termination of the agreement, at the discretion of the County.

16. E-VERIFY

The Contractor and Subcontractor must register with and use the E-verify system in accordance with Florida Statute 448.095. The County will verify the work authorization of the Contractor and Subcontractor. A Contractor and Subcontractor may not enter into a contract with the County unless each party registers with and uses the E-verify system.

If a Contractor enters a contract with a Subcontractor, the Subcontractor must provide the Contractor with an affidavit stating that the Subcontractor does not employ, contract with, or subcontract with unauthorized aliens. The Contractor must maintain a copy of the affidavit for the duration of the contract.

If the County, Contractor, or Subcontract has a good faith belief that a person or entity with which it is contracting has knowingly violated Florida Statute 448.09(1) shall immediately terminate the contract with the person or entity.

If the County has a good faith belief that a Subcontractor knowingly violated this provision, but the Contractor otherwise complied with this provision, the County will notify the Contractor and order that the Contractor immediately terminate the contract with the Subcontractor.

A contract terminated under the provisions of this section is not a breach of contract and may not considered such. Any contract termination under the provisions of this section may be challenged to Section 448.095(2)(d), Florida Statute. Contractor acknowledges upon termination of this agreement by the County for violation of this section by Contractor, Contractor may not be awarded a public contract for at least one (1) year. Contractor acknowledges that Contractor is liable for any additional costs incurred by the County as a result of termination of any contract for a violation of this section.

Contractor or Subcontractor shall insert in any subcontracts the clauses set forth in this section, requiring the subcontracts to include these clauses in any lower tier subcontracts. Contractor shall be responsible for compliance by any Subcontractor or Lower Tier Subcontractor with the clause set for in this section.

17. NOTICES TO PINELLAS COUNTY - Any notices or inquiries relative to Purchase Order should be directed to:

Thomas Russell

Procurement Analyst Coordinator 727-**464-3154 torussell**@pinellascounty.org

- 18. INSPECTION In County's sole discretion, goods rejected due to inferior quality or workmanship will be returned to Contractor at Contractor's expense and are not to be replaced except upon receipt of written instructions from County.
- 19. MATERIAL QUALITY All goods and materials purchased and delivered pursuant to this Agreement will be of first quality and not damaged and/or factory seconds. Any materials damaged or not in first quality condition upon receipt must be exchanged within twenty-four (24) hours of notice to the Contractor at no charge to County.
- 20. MATERIAL SAFETY DATA In accordance with OSHA Hazardous Communications Standards, it is the Contractor seller's duty to advise if a product is a toxic substance and to provide a Material Safety Data Sheet at time of delivery.
- 21. NON-EXCLUSIVE AGREEMENT Award of this Agreement imposes no obligation on the County to utilize the Contractor for all goods of this type, which may develop during the agreement period. This is not an exclusive agreement. County specifically reserves the right to concurrently contract for similar goods if it deems such action to be in the County's best interest. In the case of multipleterm agreements, this provision applies separately to each term.
- 22. PURCHASE ORDER NUMBER Each order will contain the Purchase Order Number applicable to this Agreement, and such Purchase Order Number must appear on all packing slips, invoices and all correspondence relating to the Order. County will not be responsible for goods delivered without a Purchase Order Number.
- 23. REMEDIES County and Contractor will have all remedies afforded by applicable law.
- 24. RIGHT TO AUDIT The Contractor must retain records relating to this agreement for a period of at least three (3) years after final payment is made. All records must be kept in such a way as will permit their inspection pursuant to Chapter 119, Florida Statutes. In addition, County reserves the right to audit such records pursuant to Pinellas County Code, §2-187.
- 25. SEVERABILITY If any section, subsection, sentence, clause, phrase, or portion of this Agreement is for any reason held invalid or unconstitutional by any court of competent Jurisdiction, such portion must be deemed separate, distinct, and independent provision, and such holding will not affect the validity of the remaining portion thereof.

- 26. TAX EXEMPTION County is immune from taxation. The Florida State Sales Tax Exemption Number for Pinellas County is 85-8013287050C-7 Federal Excise Tax Exemption Number is 59-6000800.
- 27. TAXES Payments to County are subject to applicable Florida taxes.
- 28. TERMINATION County reserves the right to terminate this agreement, without cause by giving thirty (30) days prior written notice to the Contractor of the intention to terminate or with cause if at any time the Contractor fails to fulfill or abide by any of the terms or conditions specified.

Failure of the Contractor to comply with any of the provisions of this Agreement is considered a material breach of Agreement and is cause for immediate termination of the Agreement at the sole discretion of County.

In addition to all other legal remedies available to the County, the County reserves the right to terminate and obtain from another source any services which have not been provided within the period of time stated in the proposal, or if no such time is stated, within a reasonable period of time from the date of request, as determined by the County.

- 29. VARIATION IN QUANTITY County assumes no liability for goods or materials produced, processed or shipped in excess of the amounts ordered pursuant to the terms of this Agreement.
- 30. WARRANTY Seller warrants that the goods are of first quality and as described in Prices Schedule.

 All manufacturer, producer or seller warranties offered to any other purchaser are expressly available and applicable to County.
- 31. ENTIRETY- This Agreement constitutes the entire Agreement between the Parties and supersedes all prior negotiations, representations or agreements either oral or written.

IN WITNESS WHEREOF, the parties hereto have caused this instrument to be executed on the day and year as written.

PINELLAS COUNTY, a political subdivision of the

State of Florida

By: Stephanie Polen	By: hah sur
Signature	Signature
	\cup
Stephanie Polen	_Charlie Justice
Print Name	Print Name
Territory Manager Title	<u>Chairman, Pinellas County Board of County Commission</u> ers Title
11/19/2021	_ January 25, 2022
Date	Date

APPROVED AS TO FORM

By: <u>Keiah Townsend</u>
Office of the County Attorney



ATTEST: KEN BURKE, CLERK
By: Decuty Clerk

EXHIBIT A

GOODS PRICE SCHEDULE

				Patterson	
Description	UOM (Pack)	Brand / Manufacturer	Estimated 12- Month Quantity (Packs)	Price Per Pack	Annual Total Price
GROUP 1 - VACCINES					
DISTEMPER/PARVO/Para influenza Vaccination, (High titer/Low Passage Parvo Fraction Parental 1ml-25 Vials	Pack (1ml Vial - 25 Vials per pack)	Nobivac/Merck	125	\$83.00	\$10,375.00
FELINE DISTEMPER RHINOTRACHEITIS-CALICI- PANLEUKOPENIA Parental 1ml-25 Vials Modified Live	Pack (1ml Vial - 25 Vials per	Nobivac/Merck	280	\$49.50	
CANINE PARAINFLUENZA BORDETELLA BRONCHISEPTICA Intranasal 1ml-25 Vials	pack) Pack (1ml Vial - 25 Vials per pack)	Nobivac/Merck	120	\$49.50	. ,
RABIES VACCINE (for a three (3) year duration) 1ml-25 Vials	Pack (1ml Vial - 25 Vials per pack)	Nobivac/Merck	140	\$60.50	\$8,470.00
			•		\$42,335.00

			Estimated 12-		
			Month QTY		Annual Total
Description	UOM (Case)	Brand / Manufacturer	(Cases)	Price Per Case	Price
GROUP 2 - SYRINGES AND NEEDLES					
1 CC SYRINGE W 25 5/8 GauGE NEEDLE LUER	Case (100 per per box - 10				
SLIP TIP (TB syringe) 100bx-10 case	per per box Case)	exel	16	\$103.27	\$1,652.30
3 CC SYRINGE W 22 3/4 GUAGE NEEDLE LUER	Case (100 per per box - 10				
LOCK 100bx-10 case	per per box Case)	exel	20	\$59.86	\$1,197.12
3 CC SYRINGE W 20 1 GUAGE NEEDLE LUER	Case (100 per per box - 10				
LOCK 100bx-10 case	per per box Case)	exel	11	\$58.82	\$647.02
5CC SYRINGE W/O NEEDLE LUER LOCK 100bx-10	Case (100 per per box - 10				
case	per per box Case)	Nipro	2	\$82.00	\$164.00
1 CC SYRINGE W/O NEEDLE SLIP TIP 100bx-10	Case (100 per per box - 10				
case	per per box Case)	exel	12	\$75.82	\$909.79
3 CC SYRINGE W/O NEEDLE SLIP TIP 100bx-10	Case (100 per per box - 10				
case	per per box Case)	exel	10	\$53.52	\$535.20
10ml LUER LOCK SYRINGES w/o NEEDLE 100bx-	Case (100 per per box - 10				
10 case	per per box Case)	nipro	3	\$96.00	\$288.00
	Case (100 per per box - 10				
18 gauge X 1 inch 100bx -10 case	per per box Case)	nipro	30	\$29.40	\$882.00
	Case (100 per per box - 10				
19 gauge x 1 inch 100bx-10 case	per per box Case)	nipro	20	\$29.40	\$588.00
	Case (100 per per box - 10				
20 gauge x 1 inch 100bx-10 case	per per box Case)	nipro	30	\$29.40	\$882.00
	Case (100 per per box - 10				
22 gauge x 3/4 inch 100bx-10 case	per per box Case)	nipro	40	\$29.40	\$1,176.00
	Case (100 per per box - 10				
25 gauge x 5/8 inch 100bx-10 case	per per box Case)	nipro	180	\$29.40	\$5,292.00
					\$14,213.44

			Estimated 12- Month QTY		Annual Total
Description	UOM (Pack)			Price Per Pack	
GROUP 3 - SUTURES , Polyglycolic Acid, Violet,					
Braided, Coated; 27"					
3-0 suture FS2 (3/8 circle 19 mm) cutting 12 per					
pack	Pack (12 per pack)	Patterson	80	\$37.39	\$2,991.20
2-0 suture FS1 (3/8 circle 24 mm) cutting 12 per					
pack	Pack (12 per pack)	Patterson	15	\$37.64	\$564.60
0 suture FSL (3/8 circle 30mm cutting) 12 per					
pack	Pack (12 per pack)	Patterson	12	\$37.64	\$451.68

Suture: Violet Monofilament Poliglecaprone					
25, 36"			1	\$0.00	\$0.00
4 - 0 suture Needle NFS-2 Cutting 12 per pack	Pack (12 per pack)	Patterson	5	\$45.24	\$226.20
3-0 suture FS2 (3/8 circle 19mm cutting) 12 per					
pack	Pack (12 per pack)	Patterson	18	\$45.24	\$814.32
2-0 suture FS1 (3/8 circle 24mm cutting) 12 per					
pack	Pack (12 per pack)	Patterson	65	\$45.24	\$2,940.60
0 suture FSL (3/8 circle 30mm reverse cutting)					
12 per pack	Pack (12 per pack)	Patterson	5	\$45.25	\$226.25
					\$8,214.85

Description	UOM (Bottle)	Brand / Manufacturer	Estimated 12- Month QTY (bottles)	Price Per Bottle	Annual Total Price
GROUP 4 - ANESTHETIC DRUGS - Generic is OK					
Butorphanol Tartrate Injectable 2mg-10 ML per					
bottle	Bottle (10 ML per bottle)	Zoetis	15	\$41.70	\$625.50
Ketaset 100mg-10 ML per bottle	Bottle (10 ML per bottle)	Dechra	60	\$5.67	\$340.20
Xylazine 100 mg-50ml per bottle	Bottle (50 ML per bottle)	Patterson	15	\$23.29	\$349.35
	•	•	•		\$1,315.05

Description	иом	Brand / Manufacturer	Estimated 12- Month QTY (per UOM indicated in column D)	Price Per UOM	Annual Total Price
GROUP 5 - MEDICATIONS & HOSPITAL					
SUPPLIES - Generic Preferred					
Azithromycin 30ml per bottle	Bottle (30 ml per bottle)	generic	50	\$4.51	\$225.63
,,, p	Case (8 oz.bottles 12 per	Serverio		7	7=====
aloeclens otic cleaner 8 oz. per bottle 12 in Case	Case)	patterson	5	\$57.00	\$285.00
amoxicillin drops 50ml per bottle	Bottle (50 ml per bottle)	generic	60	\$2.21	\$132.60
bnp ophthalmic ointment 3.5g Tube	Tube (3.5g Tube)	generic	48	\$4.97	\$238.38
Butorphanol Tartrate injectable 2 ml per bottle	Bottle (2 ml per bottle)		15	\$0.00	\$0.00
Capstar 11.4 mg 60 Tablet	Box (60 Tablets per box)	PETIQ	20	\$238.70	\$4,774.00
Capstar 57mg 60 Tablet	Box (60 Tablets per box)	PETIQ	4	\$247.94	\$991.76
cotton gauze squares 3x3 12 ply 200 in Sleeve	Case (20 Sleeves per Case)	Patterson	360	\$35.00	\$12,600.00
doxycycline 100 mg 250 Tablet	Bottle (250 tablets per bottle)	Patterson	30	\$22.50	\$675.00
doxycycline 50 mg 50 Tablet	Bottle (50 tablets per bottle)	Patterson	20	\$4.50	\$90.00
E 7.5 collar 5 per pack	Pack (5 collars per pack)	Patterson	5	\$7.20	\$36.00
E 10 collar 5 per pack	Pack (5 collars per pack)	Patterson	5	\$6.55	\$32.75
E 12.5 collar 5 per pack	Pack (5 collars per pack)	Patterson	5	\$7.45	\$37.25
E 15 collar 5 per pack	Pack (5 collars per pack)	Patterson	15	\$11.70	\$175.50
E 20 collar 5 per pack	Pack (5 collars per pack)	Patterson	15	\$13.30	\$199.50
E 25 collar 5 per pack	Pack (5 collars per pack)	Patterson	60	\$16.30	\$978.00
E 30 collar 5 per pack	Pack (5 collars per pack)	Patterson	40	\$20.50	\$820.00
ear swabs 1,000 per per box	Box (1,000 swabs per box)	Patterson	20	\$5.31	\$106.13
erythromycin ophthalmic ointment 3.5 g Tube	Tube (3.5g per Tube)	Patterson	96	\$4.95	\$475.20
Heartguard Plus <25# 6 Dose per pack-case 10	Case (6 dose per pack, 10 packs per Case)	Merial	3	\$246.60	\$739.80
Heartguard Plus 26-50# 6 Dose per pack-case 10	Case (6 dose per pack, 10 packs per Case)	Merial	5	\$318.60	\$1,593.00

	In (a)	T	ı		
Heartguard Plus 51-100# 6 Dose per pack-case	Case (6 dose per pack, 10				
10	packs per Case)	Merial	6	\$384.60	\$2,307.60
heavy duty tongue depressors 6 Inch 500 per					
box	Box (500 depressors per box)	Patterson	25	\$5.00	\$125.00
	Box (250ml per Bottle, 6				
isoflurane 250 ml dose per bottle - 6 per box	Bottles per box)	Patterson	24	\$127.35	\$3,056.33
KMR 5# Bag	Bag	PetAg	10	\$75.00	\$750.00
	Case (12 1 Liters bottles per				
lactated ringers fluids 1 Liter Bottles- 12 per case	Case)	Dechra	7	\$62.68	\$438.76
meloxicam 25 ml per bottle	Bottle (25 ml per bottle)	Patterson	36	\$113.86	\$4,098.87
praziquantel injectable 50 ml per bottle	Bottle (50 ml per bottle)	BIMEDA	30	\$343.76	\$10,312.68
sterile eye lube 1/8 oz Tube- 12 per case	Case (12 tubes per Case)	Patterson	6	\$70.52	\$423.14
sterilization pouches 3" X 8" 200 pkg	Pkg (200 pouches per Pkg)	Jorvet	8	\$14.44	\$115.52
sterilization pouches 5" X 10" 200 pkg	Pkg (200 pouches per Pkg)	Jorvet	3	\$26.88	\$80.63
sterilization pouches 7" X 12" 200 pkg	Pkg (200 pouches per Pkg)	iorvet	10	\$32.78	\$327.75
	8 (11 11 11 11 11 11 11 1	,		70=0	70=:::0
strongid pyrantel pamoate 32 oz per bottle	Bottle (32 oz. per bottle)	Neogen	25	\$31.20	\$780.04
Bravecto Tablets 112.5mg 10 tablets per pack-2	Case (10 tablets per pack-2	Neogen	23		\$700.04
packs per case	packs per case)	Merck	2	\$335.30	\$670.60
Bravecto Tablets 250mg 10 tablets per pack-2	Case (10 tablets per pack-2	IVIETCK	2	\$333.30	\$070.00
		Morek],	6242.00	¢694.00
packs per case Proverte Tablets F00mg tablets per pack 3 packs	packs per case)	Merck	2	\$342.00	\$684.00
Bravecto Tablets 500mg tablets per pack-2 packs		NA		6340 70	64.046.45
per case	packs per case)	Merck	3	\$348.70	\$1,046.10
Bravecto Tablets 100mg tablets per pack-2 packs					
per case	packs per case)	Merck	6	\$352.00	\$2,112.00
	Bottle (100mg tablets 100				
cefpodoxime 100mg tablets 100 per bottle	per bottle)	Cefpoderm	15	\$40.07	\$601.05
	Bottle (150mg tablets 100				
clindamycin 150mg tablets 100 per bottle	per bottle)	Virbac	15	\$98.86	\$1,482.90
	Bottle (75mg tablets 200 per				
clindamycin 75mg tablets 200 per bottle	bottle)	Virbac	15	\$151.60	\$2,274.00
clindamycin 25mg drops 20ml per bottle	Bottle (20 ml per bottle)	Patterson	15	\$2.90	\$43.43
panacur granules 1lb tub	Tub (1lb Tub)	Merck	12	\$309.22	\$3,710.64
panacur granules dispensing kit	Kit	Merck	12	\$0.00	\$0.00
versalon all-purpose sponges 3x3 square 20 per					
sleeve	Sleeve (20 per sleeve)	Cardinal	60	\$3.12	\$187.49
Size 6 Non-Powdered Gloves, Sterile (surgery)	Case (50 per box-10 boxes				
gloves 50 per box-10 boxes per case	per case)	Patterson	24	\$341.16	\$8,187.74
1	i i			, -	1-7-
Size 6 1/2 Non-Powdered Gloves, Sterile	Case (50 per box-10 boxes				
(surgery) gloves 50 per box-10 boxes per case	per case)	Patterson	24	\$341.16	\$8,187.74
(Surgery) groves so per sox to soxes per cuse	per case,	T dtterson	24	Ç541.10	Ş0,107.7 -
Size 7 Non-Powdered Gloves, Sterile (surgery)	Case (50 per box-10 boxes				
gloves 50 per box-10 boxes per case	per case)	Dattaraan	64	¢241.16	¢21 022 07
gloves 30 per box-10 boxes per case	per case)	Patterson	64	\$341.16	\$21,833.97
Circ 7.4/2 New Providenced Clause Charile	C (50 h 10 h				
Size 7 1/2 Non-Powdered Gloves, Sterile	Case (50 per box-10 boxes			4044.46	424 022 07
(surgery) gloves 50 per box-10 boxes per case	per case)	Patterson	64	\$341.16	\$21,833.97
Size 8 Non-Powdered Gloves, Sterile (surgery)	Case (50 per box-10 boxes				
gloves 50 per box-10 boxes per case				¢226.04	\$132,082.05
	per case)	Patterson	392	\$336.94	
Cerenia injectable 10mg per 20ml bottle	Bottle (10mg per 20ml	Patterson THIS ITEM IS DIRECT WITI		\$0.00	\$0.00
· · · · · · · · · · · · · · · · · · ·	Bottle (10mg per 20ml				
Cerenia injectable 10mg per 20ml bottle Claro otic tub Box of 10 single doses – each dose 1ml	Bottle (10mg per 20ml Box (10 1ml doses per box)			\$0.00 \$159.63	\$0.00 \$6,385.20
Cerenia injectable 10mg per 20ml bottle Claro otic tub Box of 10 single doses – each dose	Bottle (10mg per 20ml	THIS ITEM IS DIRECT WITI	20	\$0.00	\$0.00
Cerenia injectable 10mg per 20ml bottle Claro otic tub Box of 10 single doses – each dose 1ml	Bottle (10mg per 20ml Box (10 1ml doses per box)	THIS ITEM IS DIRECT WITH	20 40 5	\$0.00 \$159.63	\$0.00 \$6,385.20
Cerenia injectable 10mg per 20ml bottle Claro otic tub Box of 10 single doses – each dose 1ml Clin Tabs 25mg per bottle	Bottle (10mg per 20ml Box (10 1ml doses per box) Bottle (25mg per bottle)	THIS ITEM IS DIRECT WITI Bayer Virbac	20 40 5 8	\$0.00 \$159.63 \$113.39	\$0.00 \$6,385.20 \$566.95
Cerenia injectable 10mg per 20ml bottle Claro otic tub Box of 10 single doses – each dose 1ml Clin Tabs 25mg per bottle Cytopoint 10mg per box or 5 Vials	Bottle (10mg per 20ml Box (10 1ml doses per box) Bottle (25mg per bottle) Box (5 vials per box)	THIS ITEM IS DIRECT WITH Bayer Virbac THIS ITEM IS DIRECT WITH	20 40 5 8 7	\$0.00 \$159.63 \$113.39 \$0.00	\$0.00 \$6,385.20 \$566.95 \$0.00
Cerenia injectable 10mg per 20ml bottle Claro otic tub Box of 10 single doses – each dose 1ml Clin Tabs 25mg per bottle Cytopoint 10mg per box or 5 Vials Cytopoint 20mg per box or 5 Vials Cytopoint 30mg per box or 5 Vials	Bottle (10mg per 20ml Box (10 1ml doses per box) Bottle (25mg per bottle) Box (5 vials per box) Box (5 vials per box)	THIS ITEM IS DIRECT WITH Bayer Virbac THIS ITEM IS DIRECT WITH THIS ITEM IS DIRECT WITH	20 40 5 8 7	\$0.00 \$159.63 \$113.39 \$0.00 \$0.00	\$0.00 \$6,385.20 \$566.95 \$0.00 \$0.00
Cerenia injectable 10mg per 20ml bottle Claro otic tub Box of 10 single doses – each dose 1ml Clin Tabs 25mg per bottle Cytopoint 10mg per box or 5 Vials Cytopoint 20mg per box or 5 Vials Cytopoint 30mg per box or 5 Vials Cytopoint 40mg per box or 5 Vials	Bottle (10mg per 20ml Box (10 1ml doses per box) Bottle (25mg per bottle) Box (5 vials per box) Box (5 vials per box) Box (5 vials per box) Box (5 vials per box)	THIS ITEM IS DIRECT WITH Bayer Virbac THIS ITEM IS DIRECT WITH	20 40 5 8 7 8 15	\$0.00 \$159.63 \$113.39 \$0.00 \$0.00 \$0.00	\$0.00 \$6,385.20 \$566.95 \$0.00 \$0.00 \$0.00 \$0.00
Cerenia injectable 10mg per 20ml bottle Claro otic tub Box of 10 single doses – each dose 1ml Clin Tabs 25mg per bottle Cytopoint 10mg per box or 5 Vials Cytopoint 20mg per box or 5 Vials Cytopoint 30mg per box or 5 Vials	Bottle (10mg per 20ml Box (10 1ml doses per box) Bottle (25mg per bottle) Box (5 vials per box) Box (5 vials per box) Box (5 vials per box)	THIS ITEM IS DIRECT WITH Bayer Virbac THIS ITEM IS DIRECT WITH THIS ITEM IS DIRECT WITH THIS ITEM IS DIRECT WITH	20 40 5 8 7 8 15	\$0.00 \$159.63 \$113.39 \$0.00 \$0.00	\$0.00 \$6,385.20 \$566.95 \$0.00 \$0.00

Previcox 57mg per bottle	Bottle (57mg per bottle)	Merial	8	\$72.00	\$576.00
Rapid Vet DTM per box	Вох	Generic	15	\$14.44	\$216.62
Zoetis Revolution, topical for dogs, teal, 240					
mg/40.1-85 lb	Case (10x6 dose packs)	Zoetis	140	\$827.00	\$115,780.00
Zoetis Depo-Medrol 20mg/20ml	20 ml VIA	Zoetis	10	\$61.05	\$610.50
Epinephrine Injection 1/1,000	50 ml Bottle	Generic	20	\$23.89	\$477.80
Tobramycin per 5ml bottle	Bottle (5ml per bottle)	Generic	75	\$3.50	\$262.20
	-	-	-		\$383,012.00

Description GROUP 6 - EUTHANSIA	Perfered UOM			Price Per Bottle	Annual Total Price
Euthanasia Solution, CII Injectable Pentobarbital Sodium - Must be labled for use in dogs and cats					
Only Powder for reconstruction will be acceptable 6 grams-250ml per bottle	Bottle (250ml per bottle)	Virbac	675	\$51.05	\$34,458.75 \$34,458.75

Description	иом	Brand / Manufacturer	Estimated 12- Month QTY	Price Per UOM	Annual Total Price
GROUP 7 – MEDICATION:					
Convenia Injectable 10ml per bottle	Bottle (10 ml per bottle)	Zoetis	35	\$339.75	\$11,891.25
Dexdomitor 20mg Vial	Vial (20 ml Vial)	Generic	20	\$119.79	\$2,395.80
Telazol or generic .05mg - 5ml Vial	Vial (5 ml Vial)	Generic	300	\$61.44	\$18,432.00
Antisedan 5mg Vial	Vial (10 ml Vial)	Zoetis	35	\$210.70	\$7,374.50
topical for dogs, 240MG, 40.1-85 LB 6 Dose per packs-case of 10	Case (6 Doses per pack, 10 packs per case)	Zoetis	60	\$827.00	\$49,620.00
Revolution, topical for dogs, 240MG, Teal, 40.1-85 LB 6 Dose per packs-case of 10	Case (6 Doses per pack, 10 packs per case)	Zoetis	60	\$0.00	\$0.00
Rimadyl Injectable 50mg-20ml Vials	Vial (20 ml Vial)	zoetis	60	\$133.70	,
·	-	-			\$97 735 55

Vial (20 ml Vial) zoetis 60 \$133.70 \$8,022.00 \$97,735.55

Annual Amount \$581,284.64

Unspecified \$40,000.00